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01-12 01-3 — 1.0 54.6 1.0 — — 9.6 2.2
01-3 01+5 — 1.0 71.2 1.0 — — 9.2 241
01+5 02 — 1.0 71.2 1.0 — — 9.7 2.2
02 03 - 1.0 63.2 1.0 - — 9.7 22
03 04 — 1.0 67.3 1.0 — — 9.4 2.2
04 05 - 1.0 67.3 1.0 - — 8.7 20
05 06 — 1.0 75.3 1.0 — — 8.0 1.9
06 07 - 1.0 75.3 1.0 - — 8.0 1.9
07 07+4 — 1.0 92.2 1.0 — — 9.4 2.2
07+4 07+6 — 1.0 922 1.0 — — 94 2.2
07+6 07+7 — 1.0 89.8 1.0 — — 9.1 2.1
07+7 08 - 1.0 89.8 1.0 - — 9.1 241
08 08+12 — 1.0 86.9 1.0 — — 8.2 1.9
08+12 08+13 - 1.0 82.0 1.0 - — 8.1 1.9
08+13 09 100.4 1.0 100.0 1.0 — — 10.0 2.3
09 09+1 100.4 1.0 100.0 1.0 - — 100 23
09+1 10 — 1.0 941 1.0 — — 9.4 2.2
10 11 - 1.0 90.9 1.0 - — 9.0 241
11 12 — 1.0 971 1.0 — — 9.6 2.2
12 13 1014 1.0 100.0 1.0 - — 9.7 23
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